ESO00: creation of household sample

Eligible household that completed interview
Eligible households that completed the interview with reduced questionnaire

Eligible households that completed the interview but data were not transmitted 0

Eligible households that were contacted but no interview was completed 284 445

Eligible households that were not contacted 161 674
Non eligible households 229

Unknown if eligible

5,640

ESOO: creation of household sample dosfnres
household interview result
11-13 ‘ 21-99
interview not completed
interview completed 21-24 31-34

household contacted household not contacted

11 13 21 23 24 31
completed comgzic;:nth unable to initial final temporary
P X ] respond resufal refusal away
questionnaire
£ 1 yes designwt=.
. aleSz 1Y 9
] 1 yes| & E‘g’ﬁ
% €38 3532
$ 23 1788 210
o lyes|s 5 S
H g S ¢¢g
gz |2
%) L | & 5 2 no
o B &11:3 'E §§ = designwt=.
- g 1g 35 3 yes but with other source
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s 3 T 2 B 13 addess inaccessible or e
8 S S8 ° nonexistent esignwt==.
o 28
2 no E B
S &§ )
& © 9-99 other reson designwt=.
o

4-7 not eligible for interview
10 inaccesible or non existent
99 missing




ESO00: creation of household sample

11-13

do8fnres

household interview result

21-99

interview not completed

interview completed

dO8resid

residential status

11 13 21
completed with
unable to
completed reduced
3 . respond
guestionnaire
£ 1 yes
- alosz 1Y
2 L laL.c
2 1 yes|G|EES@
= P o833
17 9 T|v 235
2 o 2o 2< 2no
> - lyes|g £35 2
2 2 S 2 e
£l %8 ® 28
= = & =
13 2|58 § g 2™
89 o |8 T .
5|8 © 3 yes but with other source
° ©
> 3
= 1<) s address inaccessible or
=1 < c 1-3 .
S S =3 non existent
=3 <
I3 2no |2 Bg
S §5
© & ©9.99 other reson
[
<

4-7 not eligible for interview

10 inaccesible or non existent

99 missing

21-24
household contacted

23
initial
resufal

24

final
refusal

31

temporary
away

31-34
household not contacted




ESO00: creation of individual sample

Eligible individuals (from sample households) that completed interview

Eligible individuals (from sample households) that completed the interview with reduced questionnaire
Eligible individuals (from sample households) that completed interview but no data were transmitted

Eligible individuals (from sample households) that were contacted but no interview was completed

Eligible individuals (from sample households) that were not contacted
Non eligible individuals (children) in sample households

Non household members in sample households

Members of non in sample households

11922

11964

2152
498 498

2152

ESO00: creation of individual sample do8fnres
household interview result
11-13 21-99
interview not completed
interview completed 21-24 31-34
contact made not contacted
11 13 12 21 22 23 24 31 32 33 34
completed with | completed but . - ) number of interview
unableto | failed to initial final temporary
completed reduced data not no nontact | call-back not
X . . respond return resufal refusal away
questionnaire transmitted not made attempted
11 completed
13 completed with reduced interviewed adults
questionnaire
12 completed but data not transmitted
not completed, contacted but
21
unable to respond
= not completed, contacted but failed
> S 22
_ = 2 to return
[4) 2 % = not completed, contacted but initial
E] k-] 5 w 2 23
K] El_ © ¢ 2 resufal
g 1 £ @ _5 1 yes ‘6% g 24 not completed, contacted but final
g s 47 % < g <] E refusal
£ E G |- E < a1 Mot completed, not contacted,
8 E g 3 2 temporary away
IS < § ‘é 32 not completed, not contacted, no
‘é:: > - contact
S = a3 not completed, not contacted,
o number of call-back not made
not completed, not contacted,
34 . .
interview not attempted
99 not completed, not contacted,
reason missing
2 no children

2 moved out

3 died

8 moved out in a previous wave

99

reason
missing

na




ESO00: creation of individual sample

do8fnres

household interview result

11-13 21-99
interview not completed
interview completed 21-24 31-34
contact made not contacted
11 13 12 21 22 23 24 31 32 33 34
completed with | completed but . I X number of interview
unableto | failed to initial final temporary
completed reduced data not no nontact | call-back not
X . . respond return resufal refusal away
questionnaire transmitted not made attempted

r08mem

current membership status

1 yes
47

household member
rO8rest
personal interview eligibility
r08fnres

individual interview result

11 completed

13 completed with reduced
questionnaire

12 completed but data not transmitted
not completed, contacted but

21
unable to respond

22 not completed, contacted but failed

to return

not completed, contacted but initial

23
resufal

24 not completed, contacted but final
refusal

a1 not completed, not contacted,

temporary away

32

not completed, not contacted, no
contact

not completed, not contacted,

& number of call-back not made
not completed, not contacted,
34 . .
interview not attempted
99 not completed, not contacted,

reason missing

2 __moved out

3 died

8 moved out in a previous wave

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable r08rest (and subsequently as r08fnres =31 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies above.

11921
29

1
13

99

reason
missing

na




ES00: PCLFS

Univ age>=16
-1 Not in Universe
111 Emp; at work; normally working 15+ hours
112 Emp; worked last 7 days, work <15 hours main activity
113 Emp; worked last 7 days, work not main activity
119 Emp; worked last 7 days, unknown if work is main activity
121 Emp; temporarily absent
122 Emp; not worked last 7 days, work <15 hours main activity
181 Emp; regular armed forces
191 Emp; indist; normally working 15+ hours
211 Unemp; ILO, registered
213 Unemp; ILO, not registered
214 Unemp; ILO, already found a job
221 Unemp; not ILO, registered, actively seeking
222 Unemp; not ILO, registered, lookking but not actively
223 Unemp; not ILO, registered, not seeking work
231 Unemp; not ILO; self-defined unemployed, actively seeking
232 Unemp; not ILO; self-defined unemployed, looking but not actively
233 Unemp; not ILO; self-defined unemployed, not seeking work
241 Unemp; not ILO; actively searching, not available or registered
291 Unemp; ILO unknown, registered and actively seeking
292 Unemp; ILO unknown, registered
293 Unemp; ILO unknown, self-declared unemployed
294 Unemp; ILO unknown, actively seeking
299 Unemp; ILO unknown
311 NILF; main activity is retirement
312 NILF; not seeking work because retired
321 ain activity is education or training
331 ain activity is housework, looking after children or oth pers
332 NILF; not seeking work because of housework
341 ain activity is ill/disabled
342 ot seeking work because ill / disabled
351 NILF; main activity is rentier
391 NILF; not seeking work because engaged in other activity
398 NILF; not seeking work for other reasons
399 NILF; not seeking work, reason unknown
411 Not emp; waiting for outcome of job application
412 Not emp; waiting for work season
421 Not emp; discouraged worker
422 Not emp; believes no job available
431 Not emp; seeking work but not actively
901 LFS uncertain; did not work last 7 days, unknown if work <15 is main activity
903 LFS uncertain; does not work 15+ hours, unknown if works less
mi missing

drop

651

92

146

896

2,152

12,168

% employed =

46.4%

% unemployed =
13.8%
% ILO unemployed =

10.4%

14,320




ES00: PCLFS dogfnres
household interview result
11or13 23o0r.
ro8work
working 15+ hours
1 2 9
yes no
p080200 p080840
2-digit ISCO main activity status
1 <1 6 1-4 or 7-96 99
not working
p081040
registered at public employment office for work not
1 2 or mi interviewed
no or na household
0080840 mi | na
armed | ot | working main activity status
armed | less than 2 1 3 4 7 8 9 10 11 | mi [ na
forces
forces | 15 hours 4
yes oing with a
. housework .
in or looking permanently pension
unemployed education | retired ) rentier disabled to  |in prison | different | other
- after children
or training work from old-
/ other e
persons a9
1 yes
1 yes
1 yes
, _Lves
- 1 yes
g ° awaiting
] 3
< g » outcome
g 2 § 1 _discouraged
o =
.5 g 8 e ¢ 4 belief no work
£ § % 2 no g E 2 "05 .‘-‘.é is available
1 yes | a a k=3 o
% % § 3 2 & = o Waiting for the
] £ ° 2 work season
2 8
@ o £ 3 e other or
3 4 o £ 2 799
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9 2 1yes|g 3 FE
5 o S g g SZax i
= 8 It 2 3 g omi|ZZ8g 9mi
H 2 o x ° H gigs
H cou EEZnoﬁg & 2 Qles
£ g & oves|g 2 g §2mBx s % E £~
e 3 13 S goror g 2 < 3 g B o8y @ 1 yes
7 E lyes|E g S8om @Y OIS B 2 ] 2 ag 25
9 < B 2 2 a E i|8& & 2nojg 2 Sc§E2nm|o Yy o9 N
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o
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2 e 9 m|S §ooror |2 285 1yes
2 E 2 EEeYo |8 EEE M
E = S % 9mi|g %5~
6 already found a job
o __[_awaiting outcome
£ 5
3
E @ 2 housework care
2 ol B 3
e 2
2 g _4 ilness, injury
ﬁ 1 engaged in other activity
= 8 other reasons
99 mi
9 mi
12
or no
>20
2 no




ES00: PCLFS dogfnres
household interview result
11or13 230r.
interviewed household
ro8work
working 15+ hours
1 9
yes
p080200
2-digit ISCO
1 <1 6 1-4 or 7-96 99
not working
p081040
registered at public employment office for work not
1 2 or mi interviewed
no or na household
0080840 mi | na
armed | ot | working main activity status
armed | less than 2 1 3 4 7 8 9 10 11 | mi | na
forces
forces | 15 hours 4
oi .
ves house'\r/ﬁ)rk witha
in or looki permanently pension
unemployed education | retired _ng rentier disabled to  |in prison | different | other
- after children
or training work from old-
/ other e
persons a
1 yes
1 yes
1 yes
1 yes
2 1 yes
§ 9 5 awating
2 ] » outcome
< 2
@ @ 1 discouraged
g s 3 @
- = g 8 e ¢ 4 belief nowork
$ o @ 2mlg ¢ 5 £ is available
B3 £ 2nofg @
H g £ 2 8 & ¢
° % 1 yes g8 2 £ a £ ¢ waiting for the
o 2 g o 2 work season
0 H 5 2 g
4 ~ kel e
_é £ = £ £ 7. Other or
o 2 S £ ] unknown
5 Lyes|S 2 I P
= = 8 o} 8 g 3 S223 omi
H 3 o 2 x Y 2 % g miZ g8 9mi
B @ 1 2w o 2 2 2 g gege
g = o yes|8 5 2™ 8 £, g 8 = 2 ©
E %.g g;urmggur:gh §g El 1 _yes
. B £ 28 i 8 2 8 B K]
g E lyes|E s gom I 2y |8 & 208 B H 2388 5 8 1yes
g 2 e 32 2 2 £ 23 2 ggs2miggie 22 1 di d
g g E E g E 8 o EL oo |5 EEE, [BEgy b dowe
5 3 5 B 52 |2 e no| = &
8 s a H 235z 9mi ‘ag.sg 8$§m7_ggmnerur
> g % g © ag unknown
2
=) = 5 gEEZnongv
@ £ 9 mi|S §Soror |9 285 1ves
2 3 £5 |8 Sg8
5 EEBom|Z "
6 already found a job
2 _7_awaiting outcome
2 75 di
o @
5 % 2 housework care
2 o2 ‘é 3 _retirement
Q £ 4 ilness, injury
g 1_engaged in other activity
@ 8 other reasons
99 mi
9 mi
12
or no
>20
2 no
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here above.



ES00: PCMAS

Univ age>=16
-1 Not in Universe 2,152 2,152
111 Emp; working 15+ hours, civilian % employed =
112 Emp; working <15 hours
181 Emp; regular armed forces 45.28%
182 Emp; community or military service
191 Emp; working 15+ hours, unknown if civilian
211 Not Emp; retired
221 Not Emp; in education or training
231 Not Emp; housework, looking after children or oth pers 12,099
241 Not Emp; permanently disabled to work ' 12168 14,320
242 Not Emp; not seeking work because illness/injury '
251 Not Emp; rentier 8 8 6,621
271 Not Emp; unemployed 678
272 Not Emp; already found a job 4 683
273 Not Emp; discouraged 1
289 Not Emp; engaged in other activity 230 230
299 Not Emp; temp absent from 15+ hour job 32 32
999 Indist; not working 15+ hours, no other info 51 51 51 51
mi missing
dropped
14,818
COMMENT: Keep in mind that selecting on the militar  y in Spain (codes 180-189) will only result in iden  tifying regular Armed Forces, as the obligatory ser vice was abolished as of 2001.
ES00: PCMAS hosfnres
household interview result
11o0r13 23o0r.
interviewed households
rogwork
working 15+ hours
1 2 9 8
yes no °
0080200 p080840 ]
2-digit ISCO code main activity status é
1 <>1 5 6 3 1 4 8 7 2 9 10 11 99 3
doing 5
housework with a mi | na s
community | working . . or looking permanently pension ]
::2:: noftoa;\cr;nsed or military | less than | retired ":)reﬁ:?r::;n after disabled to rentier [ unemployed if prison different other | mi na ’g
service 15 hours children / work from old- <
other age
persons
© 1 yes
” 1 yes
3 1 yes 289
E % 1 yes 272
:@ f glready found a 273
ks I ob
H % S g g o i g:gs;;z il;cl 251 271
s = = x o > .
g g 2 nis?r yes § 2 § ozr o g g 2 g & S g’ other activity 241
- % 1 yes| E ] % Yormi|8 2 or n(r)nti)r § = 2038 2 wle & awaiting 211 221 231 289
g g 5 2 a a £ g S & or olg 2 2o & outcome
5 2 e £ 2 2 2 x 9om|S 2 9 9|8 8 _8 otherreasons
e 8 E 5 & 2 =8 M2 £ 799 mi
o 3 a > 7] 5]
= ES [=} = 0 . na
e 3 © g e ———
2 £ < ‘g = 4 liness, injury 242
=) g 5 2 housework care 231
] 5 I
g 3 retirement 211
12 or
520 no 999
2 no
na




ES00: PCMAS hosfnres
household interview result
11o0r13 23o0r.
interviewed households
ro8work
working 15+ hours
1 2 9 8
yes no °
0080200 p080840 ]
2-digit ISCO code main activity status §
1 <1 5 6 3 1 4 8 7 2 9 10 11 99 3
doing 5
housework with a mi | na s
amed | not armed comnlunity working . in education or looking pgrmanently ) ) p‘ension ) E
forces forces ormll[tary less than | retired or training gﬁer disabled to rentier [ unemployed if prison different other | mi na 5
service 15 hours children / work from old- <
other age
persons
1 yes
1 yes
] 1 yes 10 31 13 4 0 37 0 2 0 0
@ % 1 vyes 0 80 123 0 0 539 0 3 1 0
= < g Aalreadyfounda 0 1 1 0 0 13 0 0 1 0
g & job
= = ..a - ‘; 5 discourag'ed 0 0 3 0 0 17 0 0 0 0
H ¢ o 282, g 2 EY . o 1 Gngagedin 0 913 2 0 0 12 0 0 o o
g 2 3 yes|g G ®© o8 E 2 2 o B £ __ otheractivity |
= ¢ g w 822 Yom|8 & o™ F 2 Mg 2 no |2 § 7 awating 0 1 0 0 0 12 0 0 0 0
gglyesgg 25809 C@.’_Egmiggoror_ggzorm’gg outcome
5 8 e £ 2 2 = ox 9omig ¥ 9 |8 2 _8 otherreasons 0 8 18 4 8 48 2 184 40 0
e g E] - 3 g 2 2 5 99 mi 0 0 0 0 0 0 0 1 0 0
5 2 £ = § __ma 0 0 0 0 0 0 0 0 1 0
> 2 2 g £ T4 Tiness, injury 20 1 24 237 0 20 2 111 37 0
= = a
=) g g 2 housework care 11 1 1992 7 0 25 11 177 2
© 3 retirement 1724 0 12 [ 4 0 1 2 24 9 1
12 or
520 no 51
2 no
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable r0O8rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here above.



ES00: PUMAS

Univ: age>=16
-1 Not in Universe 2,152 2,152 2,152
111 Emp; paid employment % employed =
112 Emp; paid apprenticeship or training 46.25%
113 Emp; self-employment
114 Emp; unpaif family work
181 Emp; regular armed forces
182 Emp; community or military service
190 Emp; indistinguishable
210 Not Emp; retired 1,661 12,168
221 Not Emp; in education or training 1,200 !
231 Not Emp; housework, looking after children or oth pers 2,243 5,797 5,797
270 Not Emp; unemployed 660
299 Not Emp; indistinguishable 33
901 Indist; 6 months in emp and 6 months not in emp 138
902 Indist; more than 6 months in uncertain situation (employment or not) 919 1,074 1,074
903 Indist; not more than 6 months in employment, not employment and other
mi missing
dropped
ES00: PUMAS dosfnres dosfnres
household interview result household interview result
1lor13 23o0r. 1lor13 23or.
) ) not . ) not
interviewed | . N interviewed | . N
households interviewed households interviewed
households households
2
or before last year
3
2-4 before last year
g o 5 9 mi 1-6 >6 months
E ; 'é §a § o 1-6 >6 months
= ® "0 o [ = yeS
g‘ = 2 g a1 E’ pe < E 3o g 7 c"":-:
2 g > 5 8 g £3le PE 12V § Q yes
ol & % sd £ S Epny ¢ g 3
8lg o < 3 2388 <8 (=2 g T R yes
5|8 & = E2Q E & 1 c (=2 I o
1 28 5 £ @ 8 =S g9 2 s I a S ER-) o
B8 2 o © =S = mi 3 2 2 < I 3£ 5 yes
£|8 § g £ 85y 8 ef § <8 Lo £
= =] s @ = 2] o AN = JE—
© g 2 3 ves | & 272 S 5§ 3 €5 e 2F
2 s s 828 M| €8 | 2 & 25 8 -
2 1 not before last year s a © © og S Eg no §_$ g3 eg @ S
s 2 7- S ¢ 2 &§¢ ~ ] —=% ©a 27 85¢
g £ 7 Zmonths © a8 & = 2 %"E Ex c £ no gSE.Ei
o s 12 N g% 2 e S =5 38 &° 23 ¢0E
= B s & E 5 = £ S - L5 = EgQ o5 %
E 8 2 3 3 a2 5 E 3 IS L 58 Ec £
2 8 ° < E 7] g E® S @ @ S
; llor o 8 3 2 B @ £ £
= g & 1B >|lg @ 9 mi 99 mi s g yes
5 2 Loyes| £ § - g 3 yes 221 1200
Iy Q = 5 3 £ c
o 2 o = ° > L = -
8 5 E] o 8 £ © o R £ Lo 92 " yes 231 2243
E g 2 S o NS S E S& £:& Lo S ¥
3 2 g E 9 2 B Eg 58 58 8A5% Lo
E g Be |3 gyvsgg o5 |81 Ef E¥22¢ |82c _Eys| 270 660
S 2 = <5 © © ~ £
3 €2 |3 2 [Eg £t S3 ¢5 ™|8§¢23: (Bl EsS
£ S T o 32 B ER £% g < ™R3 sE2
E o o £ s s o8 5o 5 & =g s 2 €
3 E 3 s E 53 32835 ES EEgno 299 33
no |4 < £ g7° ? o E
<>1 not armed forces 3 2
s 5 902 919
S 5 - yes
I £ =
% s %. f-g 5 E . Ncto yes 901 138
2 § ~S585% 82822« T
2 = o g = o ¢ NT2SESyg S = es 903 7
E o 8959328 |gSEGE?S E8= 58
3 5 QS 2ENN[OFSECT g I[N oEE
o 2 o8 82 € S0 DS ES nO|oSa S
S&52¢ |fE8m>3% 23 s52E
“egcs %gggE‘E ESEEEno
£ 350 382
12 or
>20
2_no 1|
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable r08rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here above.



ES00: PSECJOB
Univ age>=16 & working 15+ hours

-1 Not in Universe 8,915 8,915 8,915
101 Additional job or business on top of main job 14.320
201 No additional job or business on top of main job 5,405 ’
mi missing
dropped
14,818 14,818
ES00: PSECJOB dosfnres
household interview result
11or13 23 or.
interviewed households
ro8work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 6 5 1-40r7 99 mi na
. community or
working less milita not workin mi na
than 15 hours .ry 9
service
- yes 101
2% g5
do 1 yes|lo 26 no 201
c = L 5=
= B © 2
2 2 o ° =
s o 11 4 53
2 w = or yes |8 o< x o B yes
£ @ 2 43 8 &4 > 2 R 5
2 B 1 ves |E & a2 © 3 g =32 yves | 28 no
s B = £2 o ©E R T =
s 2 e E 8 2 no |8 58 2 3 :
© 2 Pg— 2= R g« © mi
o [} @ = e o =
= o ] x ® o 5 <
o S S5 =3 no
] = ERS 8 -1
2 2 © mi
= 12
%” or no -1
>20
2 no

na




ES00: PSECJOB dosfnres
household interview result
11l or13 23 or.
interviewed households
r08work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 6 5 1-40r 7-11 99 mi na
. community or
working less milita not workin mi na
than 15 hours . .ry 9
service
_ o = yes 161
8 g5
og 1 ves|9 & no 5057
20 8 5
Q o 3
z = <= s @ mi
] 2 g
S ¢ 11 S 8¢ 1
2 w = o yes |8 53 £, S = yes
£ o & 5 8 25 3 & ~ S5 o
7 g 1 vyes | E E" [=% ;: § % : yes § % =) no 31
g% 8 = Eanog%“g a T mi
2] S = i =
e g g 22 2 £
5 2 xc g S no 105 6586 3
> g E 3 mi 0 0
% 12
3 or no 51 18
>20
2 no 2152
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the

calculation of the frequencies here above.




ES00: PHOURSU
Univ=age>=16 & employed

-1 Not in Universe 2152 2152 2152 2152
0 <zero hours>
1-95 <valid number of hours>
96 96+ hours 3 3 12060
1000 conscript work only, hours not known 0 e 12168 14320
1001-1095  at least 1 hour - at least 14 hours 161
-9 irregular hours
mi missing
dropped
14818
ES00: PHOURSU do8fnres
household interview result
11lor13 23or.
interviewed households
ro8work
working 15+ hours
1 2 9
yes no
080730 p080840 not
additional job main activity status interviewed
1 9 5 6 1-4 or 7-96 99 households
yes mi na
080750 )
N - . community | working
number of hours in additional job o
missing na or military | less than |not working mi na
1-95 96 99 service 15 hours
valid number of 96 hours or
missing
hours more
L E|lo § e validnumberof hours 1000 + p080620
e 2o 2|8 8¢
2 =S 8 = S 2 3 796 96 hours or more
oo 2adlx g2 -
© ° § 9 E a E 97 not applicable hours
=} e
. 1 yes g e ° e 99 missing 1000 + p080750 96
5 @ £
3 o o ~ -
2 2 2 S|, £ g valid number of hours 1000 + p080350
2 2 218 2o
% S3gElg 23
7] = B B @ w2 96 96 hours or more
o bt 2|2 g.::
> = e £
H g u (8% 1 yes |7 & oo mising 1000 + p080750 |
E 5 = OYSIB B & valid
E s 2 13 2 2 < I qumber of Co00s
s = lyes|E § @ 5 » S 8 S, 9 p080930
o 5 8 E o) 3 = o 8 1 yes|3 857’1()“"5
s g ;_§ % OE 021 ggg geg%%hoursor
= & 3 5, S =8 2 3 yesggg o 2 more
»i 2 8 ne § 5g|2no g 2 23 99 missing
c @
= = s e g 2 s ] 2 no, irregular hours
3 £ S < °
E) Ed = x 9 missing
@ = o e
g S = no
5 9 mi
9 missing
12
or no
>20
2 no
na




ES00: PHOURSU

4

N 1-
~ 1 £ ) valid number of hours 0
[ g IS N 95
o = 2 TE|lQ 2
(3“ S o 238 ; 2 _96 96 hours or more 0
o E 9 _E 2 EF 97 not applicable hours 0
1 yes ® o 5 51
o S g < 99 missing 0
3 8 5 — » 1
< e 5 2| o g o5 valid number of hours 0
0 Sld B
— o . © O
1= = E(Q <
7 >3 3238 £ 96 96 hours or more 1 Y
s = 5 28 2%
5 o 2 3 .
% g 11 R . 1 yes £ 2 99 missing 1 0
or yes|S 5
2 P H 13 ¥ 2 L 9 1 valid
= e = a 2 X %5 o %5 number of
5 E lyes|E F 2 5 o 2 8 2w 9%,
<] 8 E k3 2 g o 2 1yes|8 85—
o E o i o
@ 2 = = 3 £ N S Ee QX €S 96 hours or
e g [} 2 SIS S~ 1vyes |8 53 Q 5< 9
s 3 5 5 0|8 S8 B 5 Y 8 23 a2 more
S = a ® $al2no |g & a o 99 missing
=1 K=} S 3= X o <
g £ © e g 2 s g 2 no, irregular hours
2 £ S c S —
=) o = i~ 9 missing
] £ ] 5
¥ 5 S 2o
S 2 =
= £ 9 mi
2 =
9 missing
12
or no
>20
2 no
na

do8fnres
household interview result
11lor13
interviewed households
ro08work
working 15+ hours
1 2 9
yes no
0080730 080840
additional job main activity status
1 9 5 6 1-4 or 7-96 99
yes mi na
pO80750 community working
number of hours in additional job - o . "
1.95 % % missing na or mlll.tary less than  [not working mi na
valid number of 96 hours or i service 15 hours
missing
hours more

23o0r.

not
interviewed
households

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable r08rest (and subsequently as r08work =9 rather than m

issing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here above.




ES00: PWEEKTL
Univ: age>=16

-1 Not in Universe
0 No weeks in employment
4-52 Number of weeks in emloyment
10xx At least xx weeks in employment
mi missing
dropped

ES00: PWEEKTL

2,152 2,152 2,152
6,058 6,058
5,680
58 5,738 12,168
14,818

dosfnres

Monthly table household interview result
speltx (employment dummy for month x) 11 or 13 23or.
interviewed not interviewed
households households
< 1'; in employment 1
2 11 2 2 x> -
= 2 S S £ 5-8 notin employment 0
c o = or yes 4 G € ——
2 0 Q= 13 ® & S _10 work <15 hours or inactive
= 52 1yes £ £ 3 2 £ E797 notapplicable
g ol & T 0 5]
& 52 e 3 € 99 missing
° 2E z 12
3 £ or no
k=) >20
o2 1
missing
ES00 PWEEKTL dosfnres do8fnres
household interview result household interview result
11 o0r13 23or. 11o0r13 23or.
interviewed not interviewed interviewed not interviewed
households households households households
, 1000 +
£ .5 fﬁ € E 1-11 at least one month in employment sum(speltlx*4.3) 58
= 2 =
.S i g X 5 5 for x=73-84
= < S c o
§ s t8|zx EE 2 o 0 6058
<+ E SE|X= <23 w _E
© 2 E T8 22 £E£¢ 1 yes
o e 021 8F 5 € € > E £ y
~S EBley 20 0 293 o
= El % = 8% Ew® E Egﬁ £ oloryesormi
g g2 u |5 8 a = S g.8°
& w & or yes|~ E e 8o S5d
£ e 2 13 x 2 >_[2 88 o|gbes ee 19 esormi
- § lyes g 3 =z 3 o 5 c EE|8 ¥, slg 28 56 g9 Y
¢ 3 g E g 2 T |5 @ g2l 28|87 g Eg
= - = o = > [ <& S =E K= o ) S
z & e T 5 £5[8pEB oo g8 3 F|Rgsf 2 m|3ELR o 5 oglovesor
= o S 3 E 'EEF'EE 2 a Egm S0 E c §-CE°9 :
5 = 8 s 0 >*glkQ E3 s § > N 2€E 6= 2 no|N B 53 mi
E‘ é 5 £ 5 T ¥ °a E c 8 8 & 2% 8 2 € g
G 1S S
[=2 3 —_ &
= 2 = 5 5 ) sum(speltlx*4.3)
@ © o = 1-12 at least one month in employment 5680
Py for x=73-84
12
or no
>20
2 no 2152
missing

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable r0O8rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies her




ES00: PWEEKUP
Univ: age>=16

-1 Not in Universe

0 No weeks in unemployment
4-52 Number of weeks in unemloyment
10xx At least xx weeks in unemployment

2,152 2,152

10,620

1,271 12,168

1
mi missing
dropped
14,818
ES00: PWEEKUP do8fnres
Monthly table household interview result
speltx (unemployment dummy for month x) 11 0or 13 23 or.
interviewed not interviewed
households households
° - 6 unemployment 1
z A X c 5 & 150r7-10 not unemployment 0
. 2 © 8% 110r13 yes o 'a%‘g npLoy!
7 25 lyes £ 23 8 ES S 97 not applicable
S 22 8 35g = G§F issi
& == T ¢ E 99 missing
S 2 -
= 55 12 or >20 no
% 2no
o i i
missing
ES00: PWEEKUP do8fnres do8fnres
household interview result household interview result
11o0r13 23 or. 11or13 23 or.
interviewed not interviewed interviewed not interviewed
households households households households
< some months mainly in o=
[ee] - *
_ =s|a E B 111 nemployment sum(speltix*4.3) 1
S =2V E €5 for x=73-84
g L2ElZ5 SE
= € Qo|(&<c E 2
§ 5 >0 §Elox == P 5 0 10620
. < g E 52|58 55 o, £25 g
3 2 L2 Eglad 25 ° gEgl =9
2 = - ‘D g2|2 g SsE T o
Q n % L 2 g g c QEG o ®=%
£ © £ 110r13 yes|~ E 2 slg s2
T 1lyes g 5 0 £ = =
; < y = O x = g = =
o 5 8 E = 2 =l T
% o R — 8 2 e S £ * sl §E
e g S & £ s = 9 = S E £ 22
=2 S g 5 L= ) S G € > = 5
) = 3 = £8|323 S5 O SE8 £
> 2 c 5 0 2T gh ED oS¢ e
= = L o E|EN S5 o c ] =]
3 Q So|lao Y £ c
) E SE|8 g¢ >
° 3 E = E3 L& least one month in sum(speltix*4.3)
T ? 2 "+ unemployment for x=73-84
12 or >20 no
2 no
missing

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable r08rest (and subsequently as rO8work =9 rather than missing). LIS manually corrected that observation in both those original variables

before the calculation of the frequencies here above.




ES00: PWKEXPTL

Univ age>=16

-1 Not in Universe
111 Work experience: currently working 15+ hours in recent job/business, has worked before
112 Work experience: currently working 15+ hours in recent job/business, first job or business
113 Currently working 15+ hours in recent job/business, unknown if first
114 Work experience: currently working 15+ hours in not recent job/business, unknown if first
119 Work experience: currently working 15+ hours, unknown if recent and/or first job/business
121 Work experience: currently not working, has already worked 15+ hours
200 No work experience; has never worked 15+ hours

mi missing

dropped

ES00: PWKEXPTL

2,152

2,152 2,152

14,320

ro8rest

eligibility for personal interview

- x _3-4 before 2000
] o & o —
7 g 5 92 9 missing
8 g lyes|g =2 g 2000 ®
= 3 x5
© 1 yes o o 2 8 12 o [0 &
— < = > s < )
S . 8 = 2001l = o
= S =]
2 88 2 8 Cx 200(2 3
2 u g £:= = 3 2 g 12 o= 3
= SR z g g2 2001 B
g% or yes |9 2 o 15 2n08n‘5
2 S 13 Q2 =3 2 S ® & 3 before 2000
1 es | £ Q o e 1 o) o oo
yes | £ & sz g, yes g g9 —
8 = o o) £ S 9 missing
=3 © R 83
rud o
3 £ 2|8 2% 5 o g *tyes
s ) & 5= s <3
k=] £ a 5go o |2 22 2ne
£ Z g5 |8 2%
g EE 9 mi|Q T o -
9] 27 9 mi
12
or no
>20
2 no

na

14,818
do8fnres
household interview result
11o0r13 23 or.
interviewed households
ro8work
working 15+ hours
1 2 9 .
no not
p080840 interviewed
main activity status households
yes 6 5 1-40r7 99 . mi na
. community or
working less military not working mi na
than 15 hours .
service




ES00: PWKEXPTL do8fnres
household interview result
1lor13 23 or.
interviewed households
r08work
working 15+ hours
1 2 9 .
no not
p080840 interviewed
main activity status households
yes 6 5 1-4o0r7 99 . mi na
. community or
working less milital not workini mi na
than 15 hours _ry 9
service
- % 3-4 before 2000 216
‘g 1] g §§ 9 missing 3
L e lyes|g =% 2000 o 1 yes| 1244
& 1 yes o £ 2§82 12 o |o &
8. ) s > 5 20015 8 2 no 234
z E o 8% 8 Bvs o 2000[l2 3
s ¢ 11 S.Ei = 3 B&e, 12 o |B F 9 mi 0
g o E oryes|g 8 = 2 o |8887% 2001 2
S 1 yes|EE B 2353 < 1 yes| E S § & 3 before 2000 3572
8 s 5 £ 25 S > 9 missing 1
s 2 e £ Rt g 2=
o o ] i a 3 3 68 0 4351 1
= 2 3 IS 2n0§‘5§2n08.§%y®5
= Q -
2 2 2 QEz o o|d 22 2ne 37 0 2235 2
2 £ k4 Lo i | S = +
£ 5 o 9 m|¥ T
= E & &~ 9mi
2
© 12
or no 135
>20
2 no 2152
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable r08rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here
above.



ESO00: PSLOT1
CONTENT: age when completed higher educational leve | achieved

Univ age>=16
-1 Not in Universe 2,152
8-80 <age in years> 9,446 14,320
mi missing
dropped
14,818
ES00: PSLOT1 do8fnres
household interview result
11 or 13 23 or.
interviewed not interviewed
households households
= T 880 valid answer pt023
© -% ™ é E 7 2
§ 3 @ = 1llor13 yes 8 = %%E -9 missing
g 83 1558 78° & —
& 5% e 2 3 missing
e T E S
== i=) 12 or
e £
S >20
© 2 no
. na
ESO00: PSLOT1 do8fnres
household interview result
11 or 13 23 or.
interviewed
ro8work
working 15+
1 not interviewed
households
yes
= @ 8-80 valid answer 9446
T 2 ™ é E 7 =
>
5 0 8 . 11 or 13 yes % 2 %%é -9 missing
— g;lyes EE(:/; Q%gfg
8 oo o T O T o = .
5 5 % o 3 3 missing
e T =
£ £ = 120r
.-g) = >20
T 2 no 2152
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as
rO8work =9 rather than missing). LIS manually corrected that observation in both those original variables before the
calculation of the frequencies here above.



ES00: PSEARCH

Univ= age>=16
-1 Not in Universe 2,152 2,152 2,152
101 Looking for job replacing main job 356
102 Looking for job in addition to main job 46 1,233
103 Looking for job in addition to or replacing current job 85 :
104 Looking for job for non workers 746
201 Not looking, engaged in other activity 927
202 Not looking, homemaker or care of others 2,232
203 Not looking, retired 1,777 11,942 14,320
204 Not looking, own illness or disability 452
205 Not looking, believes no suitable work available 20 10,709
206 Not looking, already found job 16
207 Not looking, awaiting outcome of application or interview 13
208 Not looking, other reasons 307
209 Not looking, no reason given 4,965
missing
dropped
ES00: PSEARCH do8fnres
household interview result
1lor13 23o0r.
interviewed households
rogwork
working 15+ hours
1 2 9 .
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
community | working less
or military than 15 not working mi na
service hours
1 yes 101
=
g x 1 yes 102
1 yes £ .5
S 2 é 2or noor g 2 z
882" Llg EE 2 no 209
2 o S =25
£ = 8t
1 vyes 8 B 9 missing -
I~
[}
g 5 1 yes 103
© 8 =
& ©x
. 1 vyes % ;Em g 2 no 209
5 -} .
é’ @ 1 yes 104
= @ 3 engaged in other
g g S 3 £ Yoy | 2oL
H s llor ves é ; i housework,
E g % 13 3 % x looking after 202
s T lyes |2 § e § S g o children or other
e 3 S £ T 2 0|8 E o 8 persons
3 g E 3 g & Joro I - N o 3 retirement 203
=] 5 = (=] k1 =
8 E a = § o ronri S 8 -« 5 4 own illness, injury, 204
2 £ »% < = H ) 3 ‘g ° g or incapacitation
5 © > s or noor| ® © e
%’ > 8 9 mi % g 2 no % s 5 believe no suitable 205
'§ é_ 2 [ 2 § work available
]
g 2 % 6 have already found 206
£ work
awaiting outcome
7 of application of 207
interview
8 other reasons 208
97 na
99 missing
9 missing
12 or
>20
2 no

na




ES00: PSEARCH

dosfnres
household interview result

r08rest
eligibility for personal interview

11lor13
interviewed households
r08work
working 15+ hours
1 2
no
p080840
main activity status
yes 5] 6 1-4 or 7-96 99
community | working less
or military than 15 not working mi
service hours

23or.

not
interviewed
households

aweek

080010

1 yes

rosfnres
individual interview result
working in a job or business for at least 15 hours

1 yes
5
2 ~ yes
o & U
e g 5« g &3
S 58 200moor B G
22% o m |8 £5 "
£ 2 o3F
= =3 .
8 3 missing
3 yes
o £
8 ©Bx
1 vyes 8 2 g no
3 =
[
3 missing
o yes
3 engaged in other
K 1 S 0 0 927 0
5 activity
] housework,
g Ioo_klng after o o 2230 >
o = » children or other
2 no § £ o _§‘ persons
g £ 5 2 . 3__retirement 0 0 1776 1
a € =3 I £
§ 2 g - S 2 own iliness, injury, 0 0 452 0
] = g =3 S 1<) % or incapacitation
> € 2or noor § i o g ]
& 9 mi Q £ =] s believe no suitable
= o (=3 o
2 2 3 s 8 5 work available g g 20 g
£ 3 3]
2 < 6 have already found o o 16 o
g work
awaiting outcome
7 of application of 0 0 13 0
interview
8 other reasons 0 0 307 0
97 na 0 0 0 0
99 missing 0 0 1 0
9 missing

2 no

. na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here above.




ES00: PCARE
Univ= age>=16

-1 Not in Universe 2,152 2,152
111 Child only, affects paid work
112 Child only, does not affect paid work
113 Child only, unknown effect on paid work
114 Child and others, affects paid work
115 Child and others, does not affect paid work

116 Child and others, unknown effect on paid work

117 Child, unknown others, affects paid work

118 Child, unknown others, does not affect paid work

119 Child, unknown others, unknown effect on paid work 14.320
121 Others only, affects paid work '
122 Others only, does not affect paid work

123 Others only, unknown effect on paid work

191 Others, unknown child, affects paid work

192 Others, unknown child, does not affect paid work

193 Others, unknown child, unknown effect on paid work

200 NOT CAREGIVER

901 No childcare, unknown others -

902 No others, unknown childcare ) )

missing
dropped

14,818

COMMENT: Hours of care are in PSLOT2.

ES00: PCARE do8fnres
household interview result
11 o0r 13 23 or.
interviewed households
p081360
looking after children
1 2 not
yes interviewed
p081430 households
; ) . not
care prevents more or different paid work missing .
applicable
1 2 9
no missing
2} 2
= So o B _ 3
= El o g g £o¢2
L o E
: o Bz te|giggem
£ g & & 2% g2 gEg——
£ 2 S 1lorl3 yes |0 = 2 S T 9 missing
2 < 1 yes E o 3 2 g
o c QX = o O o
& 2 e = T2 sno
3 [}
s 123 S = 2
S § g3 9 missing
L 5 S
2 £ -
5 12 or>20 no
(o)
5 2 no

na




ES00: PCARE

1 yes

rO8rest

ro8fnres

individual interview result

23 or.

not
interviewed
households

dosfnres
household interview result
11o0r13
interviewed households
p081360
looking after children
1 2
yes
p081430 not
care prevents more or different paid work missing .
applicable
1 2 9
no missing
) n C©
S o e
o Q =
2 g Q 823
25 1 yes|o 2T =
o .© ® S =T
= G 3 532
X 20 2 248
1lorl3 yes [0 B & g5 o
S -3 £ 9 missing
o g [}
s 2
gg 2m
s .
o 9 missing
12 or >20 no

eligibility for personal interview

2 no

na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and
those original variables before the calculation of the frequencies here above.

subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both



ES00: PSLOT2
CONTENTS: Hours per week caring for children or otherp  ersons.
Univ= age>=16

-1 Not in Universe 2,152 2,152
0 <Not caregiver>
1-95 <Number of hours providing care>
96 96 or more
missing
dropped

14,818
COMMENT: PSLOT2 contains caregiving hours provided fo  r both children and adults. If childcare is provid ed, ONLY childcare hours are reported, regardless of the amount of time caring
for others. If no childcare is provided  or childcare hours are missing, hours providing care for others is given instead.
RECOMMENDATION: Use PCARE to determine which hours are link  ed to childcare (110-119) and which are linked to ¢ are for others (120-129).

ESO00: PSLOT2 d0o8fnres
household interview result
11 o0r13 23 or.
interviewed households
p081360
looking after children
1 2 . not
yes interviewed
p081370 not households
weekly hours of care missing apolicable
1-95 96 i
valid hours 96 or more
© <
— 'S o >
S ) < o9
3 2 23 1 yes % < 3
e = o ©0T S 2%
2 9 3 8 sde 2 8
£ 2 S 1lorl3 yes |4 £ € g S
= < 1 yes £ ® T o O
0 c s 8 3 o<£
o o o £ £ =2
] g =3 ™ @ 2 no
-2 3 <8
8 = @ 9 missing
> 2 =
E 12 or>20 no
2
z 2 no

na




ESO00: PSLOT2 d0o8fnres
household interview result
11o0r13 23 or.
interviewed households
p081360
looking after children

1 2 not
yes interviewed
p081370 not households
weekly hours of care missing applicable
1-95 96

valid hours 96 or more

—
T o
= ° o @
= S o a5
K 7 o o 1 < 9@
S o £ o0 yes oFo' < ©
) O O T S > ©
2 n 3= 0 . O =
iS 3 @ ®» go? e 3
= = S 1llorl3 yes |d £ < @ b
7 c 1 yes £ 5 ® T o O g
° 5 g E 225
[<9) 0 re £
S g g $2 2no
he] o o
S = 2
2 2 o 9 missin
z 2 o 9
i) 12 or >20 no
2 2
D no
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as rO8work =9 rather than missing). LIS manually corrected that observation in both
those original variables before the calculation of the frequencies here above.



ES00: PACTIV
Univ= age>=16 & employed

-1 Not in Universe 8,713 8,713
111 Emp; paid employment as main activity
121 Emp; training under special scheme related to emp
122 Emp; paid apprenticeship
131 Emp; paid employment as secondary/occasional activity
182 Emp; community or military service 14,320
. 5,607
210 Self-emp; employer
220 Self-emp; own account worker 635 976
290 Self-emp; indistinguishable
410 Oth Emp; contributing family worker
mi missing
dropped
14,818
ES00: PACTIV dosfnres
household interview result
1lor13 23o0r.
interviewed households
r08work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
CEUIILY @F working less
mllnz‘ary than 15 hours | " working mi na
service
1 paid employment
2 training related to employment
é 3 paid apprenticeship
g §~ g o5 % @ 1 none
lyes | & L EIR 522
£ = Q o
R 5 439 258 27 1ormore
2 2 028 ESe
x o 5§/12285 0o m
[} o 5 =
° 2 - -
5 unpaid family work
2z 9 mi
g 1 paid employment
§ 2 training related to employment
i g 3 paid apprenticeship
3 €
1%] -
s = 8 g 2 Elo 529 1 none 220
2 3 o & 1yes |8 2 L E(R 522
2 S ltor g P 2 5 4§38 £58 27 1ormore 210
£ g 3 13 ves|g 2 3 S 5 "g|2 538
- T lyes |E & 2 g 5 g 5 EL O g9 mi 290
3 < 5 £ £ i = T
& g 2 =~ a < 5 unpaid family work
=4 Q =) ° 5 9 i
S = mi
= 2 ] o 3=
L = o 8 £
> 2 S 2no § s 1 paid employment
= © =
"% < 2 g training related to
> = 2 x employment
2 : £ g & g opud
g = 8 © 1 yes |3 < apprenticeship
S @ ~ £ °
g 2no |8 g a 8 4 self-employment
£ =3 E =
o) e unpaid family
S 5
3 work
9 missing
2 no
9 mi
9 mi
12 or
220 M 1
2 no -1

na




ES00: PACTIV dosfnres
household interview result
11or13 23or.
interviewed households
ro8work
working 15+ hours
1 2 9 .
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
Cl]mrrrlrillliimty * working less not workin mi na
§ry than 15 hours 9
service
1 paid employment
= 2_training related to employment
é 3 _paid apprenticeship
g —i é ° § g § 1 none 631
1yes18 £ 4358 855 27 1ormare 322
2 s “2g|8Ese
3 © g‘ o 3 DE )
o 2 T S © 0 99 mi 0
s 25 unpaid family work 44
9 mi
©
o 1 paid employment
3 2 _training related to employment
= - - : :
5 é 3 paid apprenticeship
3 I 1 none 4
. s 7 g 2 5le 538
2 2 2 1yes |8 =3 L E|l& 522
2 4 S ® 4 Q E 4 92 Q 2585 27 lormore 0
9] > 1lor S = S 2 2 “s|l8 ESs2
z o 3 yes [©@ & o © c£la 2DE
= ¢ 2 13 S v < @ 5 S 20 99 mi
7 € 1yes |E § s g b s
g 2 8 E = < 5 __unpaid family work
S o T3 2 S i
2 e H 2 S g 9 mi
§ g _§ 2 no % S 1 paid employment
= £ < [=J training related to
2 hid 2 5 2 !
=) = 2 x employment
© 2 K 2 S ] paid
£ > o 8 @ 2 -
=4 = e} 1 yes |g 5 apprenticeshi
5 5 2 8 ~ 2 S ____apprenticeship |
= ’g_ no % & o § 4 self-employment
o
g é unpaid family
3 work
9 missing
2 no
9 mi
9 mi
12 or
520 MO 51 18
2 no 2152
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here abo



ES00: POCC
Univ= age>=16 & employed
CONTENTS: 2-digit ISCO * 1000

-1 Not in Universe 8,713 8,713 8,713
100-9300 valid ISCO codes 5,472
9998 community or military service - R 5,607 14,320
missing
dropped
14,818
==
ES00: POCC do8fnres
household interview result
11or13 23or.
interviewed households
r08work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 mi na
community |working less
or military than 15 not working mi na
service hours
T
S & § 1-93 2-digitISCO code p080200 x100
L 5
s |*rHem N
3 (s}
i}
8 . g £ § 1-93 2igitISCO code p080200 x100
= - Iy Q =
3 S 3 S toves|B gE
= = 1lor o = S Q 83§ .
g w 3 ves |2 @ B g | 99 mi
c o 2 13 @ 3
= = 2 2 = 15
= ® lyes |£ g 2 % QE s
g 5 g E 2 2n0 |S2E o g g .. g 193 2UONISCO p080900 x100
g8 g T3 5 832 o § 1 yes |S SEE__0
-2 2 8 =g g ~ 8 £%¢ .
5 z = S 2 no |Q H 2 &®g 99 mi
= [
2 £ < g 2 <
2 é ‘g 2 no
-FO_ 8 . 9 mi
3 9 mi
12 or
w20 N -1
2 no -1
na




ES00: POCC dosfnres
household interview result
11o0r13 23 or.
interviewed households
r08work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 mi na
community |working less
or military than 15 not working mi na
service hours
©
S = § 1-93 2-digit ISCO code 5238
» N O ©
] 1 yes % 9_”3 =
z 228 9 mi
-
@
8 . S =5 193 2digitSCO code 32
.5 Fi o ° 4 1 yes S 8 é
S o o O < X 25
S = 1lor o v S g_ s 8 99 mi
2 @ $ 13 Y5 |8 g H 3
= 2 =< o 2 £
- < 1 yes (= a = QS o .
a c &5 2 N E @ 2-digit ISCO
¢ g 8 E 3 St5 0 9 = . 3 193 1 7
E 2 S = Jg 20 |2 g E B S 828 code 0 * ° °
= o E = 22 g © 1 yes |Q G235
s = @ =9} ~ = £ .
S z < > 2w |2 g 2 5°g 99 mi 0
£ £ £ 5 2 =
2 S ‘g 2 no 0 6489 8
X £ 9 mi 0 0 0
o - n
= 9 mi 0 0 0
12 or
520 no 51 18
2 no 2152
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as r08work =9 rather than miss

ng). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here &




ES00: PIND
Univ= age>=16 & employed
CONTENTS: 2-digit NACE reshaped to the 5-digit LIS/ NACE standard

-1 Not in Universe

1000s A - agriculture, hunting and forestry
2000s B - fishing

3000s C - mining and quarrying

4000s D - manufacturing

5000s E - electricity, gas and water supply
6000s F - construction

7000s G - wholesale and retail trade

8000s H - hotels and restaurants

9000s | - transport, storage and communications

10000s J - financial intermediation
11000s K - real estate, renting and business activities
12000s L - public administration and defence; compuls. social security
13000s M - education
14000s N - health and social work
15000s O - other community, social and personal service activities
16000s P - private households with employed person
17000s Q - extra-territorial organizations and bodies
missing
dropped

8,713

5607

14,320

14,818

14,818



ES00: PIND dogfnres
household interview result

1lor13 230r.
interviewed
r08work
working 15+ hours
1 2 9
no not

p080840 interviewed
households

main activity status

6 1-4 or 7-96
working less
than 15 hours

yes

not working

1-2  A-agri hunting and forestry
5  B-fishing
10-14 C - mining and quarrying
15-37 D- i
40-41 E- icity, gas and water supply
45 F- i
50-52 G- and retail trade

55 H - hotels and restaurants
60-64 | - transport, storage and
65-67 J - financial intermediation

,_.
s
&
p080260
industry

70-74 K - real estate, renting and il activiti  es
75 L - public ini: ion and defence; compuls. s ocial security
80 M- i
85 N - health and social work

90-93 O - other ity, social and personal servi  ce activities

P - private with person
Q - extra-territorial organizations and bodies

1-2  A- agriculture, hunting and forestry
X 5 B -fishing
© D - manufacturing
E F - construction
E G- and retail trade
= b H - hotels and
H 2 @ S 2 —
3 2 @ Q£ | - transport, storage and communications
s L o 2 1 yes | S
£ g & g g 2z
= 2 5 1lorl3 yes |9 5 = K - real estate, renting and business activiti  es
o T 1 yes s g8 S 0 - " -
3 5 3 £ N L - public and defence; compuls. s ocial security
8 g,. T s £ M - education
5 2 2 N - health and social work
2 2 3 E
8 - f P - private households with employed person
£ ]
2 x
£ 5
3 g 3 A- agriculture, hunting and forest
g 8 Z - agriculture, hunting and forestry
2no 12 9 B - fishing
2t
“': D - manufacturing
é\
g F - construction
g G- and retail trade
2 ” o 55 H-hotels and
o g‘ 1 yes g .E 60-64 | - transport, storage and
s o |8 T @ 3 _65-67 J-financial i jati
3 E 2 % 70-74 K- real estate, renting and business activiti__es
= g 75 L - public ini ion and defence; compuls. soc
s 80 M - education
85 N - health and social work
90-93 O - other cc ity, social and personal service ac
95 P - private with employed person
97 Q- extra-territorial organizations and bodies
2 no
12 or>20 no
2 no

na




ES00: PIND dosfnres
household interview result
1lor13 23o0r.
interviewed households
ro8work
working 15+ hours
1 2 9 B
no not
p080840 interviewed
main activity status households
yes 6 1-4 or 7-96
working less N
than 15 hours not working
1-2 A - agriculture, hunting and forestry
5 B - fishing
10-14 C - mining and quarrying
15-37 D - manufacturing
40-41 E - electricity, gas and water supply
45  F - construction
50-52 G - wholesale and retail trade
o 55 H - hotels and restaurants
1 yes § ‘E 60-64 |- tr_ansgt_lrt,vstcrage _an_d communications
3 3 65-67 J - financial intermediation
a = 70-74 - real estate, renting and business activiti_es
75 L - public administration and defence; compuls. s ocial security
- education
- health and social work
90-93 O - other community, social and personal servi___ce activities
95 P - private households with employed person
97 Q- extra-territorial organizations and bodies
3 1-2 _A- agriculture, hunting and forestry
< 5 B - fishing
©
15-37_D - manufacturing
2
é 45 _ F - construction
0 50-52 G - wholesale and retail trade
% § % S 55 H - hotels and restaurants
=S @ s I 60-64 | - transport, storage and communications
5 < q 2 1oves |8
2 =
» % . g -g 11or13 yes 8 g 2 70-74 - real estate, renting and business activiti__es
7 £ ves | £ g ‘éi_ E 75 L - public administration and defence; compuls.s ___ocial securi
g 2 < = 4 80 - education
= & E g 4 85 - health and social work
L 2 2 2
B 5 & 95 P - private households with employed person
s o
= g 2 : :
= 8 Z A- arl_culture, hunting and forestr
_5 2 no S g B - fishing
5 (=
g = § D - manufacturing
K
> F - construction
8 G - wholesale and retail trade
8 3 IS H - hotels and restaurants
g o g 1 > B | - transport, storage and communications
I3} 3 yes |2 9 —= —
@® M~ 3 3 - financial intermediation
2 no 2 fé a2 £ - real estate, renting and business activiti__es
2 v L - public administration and defence; compuls. soc
5] - education
= - health and social work
O - other community, social and personal service ac
P - private households with employed person
Q - extra-territorial organizations and bodies
2
12 0or>20 no
2 no
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable r08rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here above.




ES00: PTYPEWK
Univ= age>=16 & working 15+ hours

-1 Not in Universe 8,915 8,915 8,915 8,915
100 PRIVATE 4,325 4,325
200 PUBLIC 925 925 5,250 5405 14,320
282 Pub; community or military service - !
mi missing
dropped
14,818
ES00: PTYPEWK dosfnres
household interview result
11 or 13 23 or.
interviewed households
ro8work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
community | working less
or military than 15 not working mi na
service hours
S o 1 private 100
@ & 8 ,
= g lyes |Q 8 2 public 200
2 2 £ [} n
8 w = g 2
£ ¢ 2 110r13 yes [ S < 2 1 private 100
-~ T lyes|E § S 8 >8 o & & -
2 5 8 g 2 g I T 25 lyes|g @ 2 public 200
o 2 s g £ 2n |8 558 3 @ -
S o s > Q g = ; 9 mi
= o 3 g S £=5
. =2 £ =% c
S 2 << 22~ 2no 282 1
2 £ E & omi i
:‘% 12 0r>20 no -1
® 2 no -1
na
ES00: PTYPEWK dosfnres
household interview result
11 or 13 23 or.
interviewed households
ro8work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
community | working less
or military than 15 not working mi na
service hours
S o 1 private 4297
a & 8 ,
> = o 1 yes 2 g 2 public 921
[} 0 = (=} 2]
s ) 3 = 9 mi
g o = g 2
£ o 2 o & i
= 2 S 1lor13 yes [S o 1 private 28
5 B lyes|E § g 8 o 2E3 g 3
e g 8 £ 2 g 8'%gglyesg S 2 public 4
8 & S 3 £ 2n0 |8 584 S & -
= e 3 = 3 ggd 9 mi
B4 - (=8
i 2 = 8% 20 0 105 6586 3
£ £ 2 >0 mi 0 0 0 0
=) 12 or>20 no 51 18
© 2 no
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as rO8work =9 rather than missing). LIS manually corrected that observation in both those original variables before the

calculation of the frequencies here above.




ES00: PSKILL
Univ= age>=16 & working 15+ hours

-1 Not in Universe 8,915 8,915 8,915
100 Has had formal training or education required for present job 2,796
200 Has not had formal training or education required for present job 2,411 5,249 5405 14,320
900 Training / apprenticeship 42 ’
mi missing
dropped
14,818
ES00: PSKILL do8fnres
household interview result
11o0r13 23or.
interviewed households
r08work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
community or .
milital working less not workin mi na
lry than 15 hours 9
service
5 8—m§ 1 yes 100
lor s £EE|F €3
. 9 gg_sgs.%EZno 200
c 5 o T 50
E 2 2
® 1 yes % E_ 2 training / apprenticeship 900
o [
a — T x 2, _x 1 yes 100
o ° £E5|e £6 %
5 I g 2[8 L8
e S 3 = E 2|8 832
= 2 o >3o|8 E8E 2 no 200
0 "oxg|lE8 go o
b geglacgeg
= 8 G > S - amimi
3 Z S =
2 s lloryes g © 2 ° 25 1 yes 100
o ) = O
= g & 13 g % g !5 Eg|§ &3
2 ®m lyes |E£ § =g 2 T EE5(8 28 2 no 200
3 5 S E £ 5 = 9 2° 3 Tg
& 2 =3 3 9 g £ I < —
2 g 3 2 < ° 3 S mi - mi
o 2 <] S )
S 2 P Q g 1 yes S 2 2 training / apprenticeship 900
= £ % 2o |8 5§ 8 2
= o =% u—
2 c 8 £ 5 Eéogalyes 100
= Q c S c L
E £ 2 5 32£2|8 83 200
: g 5888 23 2™
z > sg{2 £¢
s g 3> 5° mi mi
5 L
£ 2 nq -1
- 9 mi
12 or
-1
s20 M
2 no

na




ES00: PSKILL do8fnres
household interview result
11o0r13 23or.
interviewed households
r08work
working 15+ hours
1 2 9 .
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
community or .
military working less not working mi na
. than 15 hours
service
<] o _x 1 yes 2284
£ [gE8%
lorg 2._|§ 553
g SEE[g 52E 210 1895
= ) S To Y
X 3] 2 |2EZVQ
@ ° £ g § S mi mi
= 2 B
© 1 yes g & 2 training/apprenticeship 42
2?2
£ ® Tl 2ox 1vyes 496
<] =% S5l9 89
< 2 ub g HEREEE
0 3 35c|(Q@ E2%€ 2 no 500
— nOoOGIR =T o
= 52 8|S ® Q@
= @ gc|=E22 =
% 2 o 2 o > S S mi mi
s [ — ‘5
= = 1lor o
o 2 yes [@ 5 S o 1 yes 13
7] L2 -
E o .% 13 8 " 1%} 1 € = g o Y
7 B lyes |£ 3 e a 3 223 §73
S 5 8 E < e o TS EIY =8 2 no 15
© @ = = 2 + < 9 ) S T 9
o [} < a 0 [} =2 o g2
= Q =] - = c i .
= =] 5 > £ £ S mi - mi
2 2 2 5 2 & o 2
© =
2 £ -% § z 1 yes § g 2 training/ apprenticeship 0
2 g 2no |9 S 2 2
k5 o = ° = x 2, 1 yes 3
£ a 3 $95l8 €&
= % = « 2328 8§35
s < 3 ¢ >xT|lQ 52 2 no 1
»288 g%
2 s ol 3 E @
5 £ 5 ES i mi
g @ S i mi
£ 2 no 0 105 6586 3
£ 79 mi 0 0 0 0
12 or
520 no 51 18
2 no 2152
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as rO8work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here



ES00: PNEMP

Univ= age>=16 & working 15+ hours

-1 Not in Universe 8,915 8,915 8,915
1 none 670
2 1to4 956
3 5to 19 1,257
4 20 to 49 751 5,236 14,320
5 50 to 99 477 5,405
6 100 to 499 640
7 500 or more 485
mi missing
dropped
14,818
ES00: PNEMP do8fnres
household interview result
11 or13 23or.
interviewed households
roswork
working 15+ hours
1 2 9 .
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
COmrrr:i]llijtzr:\ny & working less not workin mi na
.ry than 15 hours ¢
service
1 none 1
g 2 1to4 2
X
S = 3 5t019 3
= o ]
© N 2. 4 20to49 4
1 yes Q _gg
v S E 5 50to 99 5
3 5 6 100 to 499 6
0 z
H = 7 500 or more 7
= :‘_é 3
2 4 9 =
< o = o |8 © 1 none 1
£ 8 & 13 |8 2 -
-~ ® lyes|E § 2 8 - S 2 1to4 2
g 5 8 = g = =
© @ -3 D = = 3 5t019 3
e g 3 3 2 o §
S = 5 N > 4 20to49 4
2 2 H g 5, 1| 2%
= . o -
£ = 5 |8 £5 S £ 5 50t099 5
© o [=%
) < 8 g2 2
= = =% 2 ° 6 100 to 499 6
£ []
< = £ 7 500 or more 7
Q >
= g < 99 missing _
1S
] 2 no 1
9 mi
12 or
2 no

na




ES00: PNEMP do8fnres
household interview result
11 or13 23or.
interviewed households
roswork
working 15+ hours
1 2 9 .
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
community or .
milita working less not workin mi na
.ry than 15 hours ¢
service
1 none 666
g 2 104 951
-« o
@ = 3 51019 1250
s o O
«s N 2. 4 201049 748
lyes | ¢
[es) QS
@ S E 5 50t099 472
5 =2
2 5 6 100 to 499 632
[Te) [}
= £ 7 500 or more 485
2 E 2 3
g ; 11 or g T
= 2 3 es [ 5 1 none 4
= - 3
gglyesgg gg é S 2 1to4 5
s @ 2 = £ < -
=] o < [} = = 3 5t019 7
2 = 2 s o 8
= = 5] £ N > 4 20to49 3
2> 2 a & o 1 yes |S 2E
£ = ) g 5§ & E° 00 99 5
k=) s 2 no e £ 3 Q g 5 50to
2 c o $=c “—
] = =% < °© 6 100 to 499 8
£ [7]
= = £ 7 500 or more 0
g 8 E
é < 99 missing
1} 2 no 0 105 6586 3
9 mi 0 0 0 0
12 or
520 no 51 18
2 no 2152
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as rO8work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the
frequencies here above.




ES00: PSUPERV
Univ= age>=16 & working 15+ hours in paid employment

-1 Not in Universe 10,093 10,093 10,093 10,093
110 Superviser/co-ordinater, has influence on promotions 356
120 Superviser/co-ordinater, no influence on promotions 738 1,096
. . . R . 4,207 14,320
190 Superviser/co-ordinater, no info on influence over promotions 2 4,227
200 Does not supervise or co-ordinate work of any personnel 3,111 3,111
mi missing
dropped
14,818
ES00: PSUPERV do8fnres
household interview result
1lor13 23or.
interviewed households
ro8work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
community |working less
or military than 15 not working mi na
service hours
5 ‘ % o 5 < 1 yes 110
= IS} =
= 5 %5 - 1lyes |9 22 2 no 12
§ 5 12 855" |8 58 0
or Elo v o Qo =5 .
z g 2 9%58%3% E2 mi mi 190
lyes |g & > gCga
eelg g g S£% 2 no 200
[ 2 5 T o5
= Qo
=] = 2 training / apprenticeship 1
> E o g 3 self-employment / unpaid work
2 ] g =
2 = 1lor o -
2 2 3 yes |8 5 £ - o 5. loes 110
£ g 2 S 9 5 5 g8 5 82
2 élyesacay 8 3 = 2 |oS%Bg 1l yes|g 22 2 no 120
® 5 S £ = X 5] 1 o |m5x¢ L o E
5 0 = a S E |Bo5 ¢ 2 =29
3 3 K] 2 2 o § o S 1gggce S €8
= 8 3 = £ & & o & 822¢ 7 mimi 190
s 3 2 Q S, luys |[& E g|2ggt
2 g % 2 no § Eg g ©° e ZE 210 200
= Iy ) = =
2 N =
= % 2 training / apprenticeship
5 <] -1
B 8 3 self-employment / unpaid work
£
] 2 no -1
9 mi
12 or
S0 MO -1 -1
2 no -1

na




ES00: PSUPERV dosfnres
household interview result
11o0r13 23 or.
interviewed households
ro8work
working 15+ hours
1 2 9 .
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
community |working less
or military than 15 not working mi na
service hours
g > o S . 1 yes 356
= 8<_ 1 2 873 3
- = 05 — es |9 2 no 735
3 § 1 5|8s52¢8 |8 §¢
z E o £ |8 985 @ €35
z g = s o |8 223 c mi missing 2
1 [ -1 S |a 5o
yes | @ g £ g7
8 & 3 SE 2 no 3086
g 2 5 T o3
0 2 - . R
- 2 training / apprenticeship 42
1%]
g E ° E 3 self-employment / unpaid work 997
2 o o4 %
% w 3 11? yes § <] € - - 1 yes 0
= 2 b c
- T 1 yes g 2 2 2 & S S G % gg
g £ g g § 1 Elgsgrtig B2 8
g 8 2 = 2 5 g E[Bo%¢ 2 28
2 8 [ 2 B3 o S o s 1282c¢ =a .
S 2 5] £ S B 9 £ (8s52¢ £ mi mi 0
L = o o 5 1 S =1 2 |agds
) g 8, g e "8 5 § SE %, 25
£ £ = no |8 =3 £
© < w— 7]
£ g g2 = s 3 | R—
= - 2 =1 mi missing
£ =
—g %‘ 2 training / apprenticeship 0
= =3 3 self-employment / unpaid work 4
S 2 no 0 105 6586 3
9 mi 0 0 0 0
12 or
>0 MO 135 51 18
2 no 2152
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable r08rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here above



ES00: PFULPAR
Univ= age>=16 & employed

-1
101
201
202
203

205
208
209
901
902
909

mi

Not in Universe

FT; 30 hours or more

PT; undergoing education or training

PT; housework, looking after children or other persons
PT; personal iliness or disability

PT; want to work more hours, but cannot find a full-time job
PT; do not work to work more hours

PT; other reason

PT; reason unknown

Indist; work <30 hours, not considered part-time
Indist; work 15+ hours

Ind not applicable hours

missing

dropped

8,713

8,713 8,713

4,893

131

4,893

537

5,601 14,320

171

ES00: PFULPAR dosmres
household interview result
1lor13 23o0r.
interviewed households
ro8work
working 15+ hours
1 9
no not
p080840 interviewed
main activity status households
yes 5 1-4 or 7-96 99 mi na
community | working less
or military than 15 not working mi na
service hours
30-96 30 or more hours 101
o 1 30 hours of more
é 1 undergoing education or training 201
LE) o 2 housework, looking after children or 202
95)_ o ) 2 o £ other persons —
=2 E E 3 ; é ° % 3 personal illness or disability 203
519 > o3 8 o|d 2o want to work more hours, but cannot
;l; ; g E % é 120 E § ; 2 E § s find a full-time job 204
£°2 3 sl= g 5| § 5 do not want to work more hours 205
1 yes ‘QE; E E % ﬁ £ _6 not considered part-time 901
. £ 2 = £ 7 other reason 208
§ = —é 9 missing 209
g 2 3 missing
¢ § E 97  not applicable hours 909
2 2 30-96 30 or more hours 101
o] g 1 30 hours of more
H § ] 2 x 1 undergoing education or training 201
s o o 2 g ” housework, looking after children or 202
£ 2 3 oris g3 © b B 0 2 0 g other persons
- T lyes|E 3 yes § pe] g, 2 E o % 3 Z _3 personalillness or disability 203
§ 5 g E e ﬁ 2|8 2 o |3 g S § g want to work more hours, but cannot
g é = ] s 3 E § § 1-29 E § 5 2 218 s find a full-time job 204
5 2 -§ » 1 yes g, s 35 E e E £ 2 § 5 do not want to work more hours 205
2 2 é E EL E 8 :: g £ _6 not considered part-time 901
B & i = £ 7 other reason 208
i o 2 9 missing 209
‘g S £ 99  missin
2 no|g £ 1 undergoing education or training 201
2 £ é 2 housework, looking after children or other persons 202
é §~ ° ‘é 3 personal illness or disability 203
2 o N1 yes § S 4 wanttowork more hours, but cannot find a full-ti__me job 204
g 2 o g E § % 5 do not want to work more hours 1 205
g S 2 <] 6 not considered part-time 901
2 = < £ 7 other reason 208
B E7TT9  missing 209
5 2 no
9 mi
9 missing
12 or>20 no 902
2 no




ES00: PFULPAR dosfnres
1 undergoing education or training household interview result
é 2 __housework, looking after 1lor13 23 or.
o 2 3 __personal iliness or disabilit interviewed households
§ § ¢ 4  wantto work more ro8work
8 §<=_5 donotwanttowork more hours working 15+ hours
= 6 __not considered part-time 1 2 9
< 7__other reason no not
E "9 missing p0B0B40 interviewed
main activity status households
yes ol 6 1-4 or 7-96 99 mi na
community | working less
or military than 15 not working mi na
service hours
30-96 30 or more hours 3935
1 30 hours of more 0
1 undergoing education or training 33
> o housework, looking after children or
£ 0 o g o £ 80
£ g g 5 E s = other persons
g5 o £ 2 g £ 2 2 £ _3 personal iliness or disability 4
1222818 2 12 8|8 2, 8|8 > 4 Wantto work more hours, but cannot 102
or9 & g 2 3 S|8 & s|18 3 find a full-time job
1 yes B ; == g Hi 8 5 do not want to work more hours 34
E 2 £ 4 i a % 6 __not considered part-time 22
% 8 ] - 2 - £ _7_other reason 53
g g g 9 missing 4
« £ 9 missing
o § g 97 not applicable hours 0
E 2 ; 30-96 30 or more hours 958
n E] 2 o 1 30 hours of more 0
H F ‘@ = 5} 1 undergoing education or training 1
2 o o 2 _3 o ” ° © housework, looking after children or 15
E 2 H g ® = 3 5 E 2 g other persons
z B lyes|E & 11lor13 yes |S 5 Slg = 2 g = 8| o g _3_ personaliliness or disability 2
s 5 g 2 2 8 3 |8 % 120 8|8 & > 8 g &, wanttowork more hours, but cannot A
g 5 =3 2 5|8 ¢ s|8 5 |8 § find a full-time job
-2 3 2 o 1 yes El2 3 s|a g £| 2 g _5 donotwanttowork more hours 6
i % ; é —é E E = ﬁ % 6 not considered part-time 5
E £ 2 T 3 < 2 - £ _7_other reason 7
S = 2 = 9 _missing 0
© £ H e 9 _missing -
2 S 3 99  missing
% 2 no § 5 ° 1  undergoing education or training 0 6 31 0
H =3 E ” E 2 housework, looking after children or other persons 0 24 12 0
E E o :é 3 personal illness or disability 0 2 8 0
: o E 1 yes § ? 4 want to work more hours, but cannot find a full-ti me job 0 53 23 0
E 2 1o § E v 3 E 5 do not want to work more hours 0 10 6 0
= 8 g = o 6 not considered part-time 0 2 7 0
5 = S 7 other reason 0 8 9 0
-g E 9  missing 0 0 1 0
2 2 no 0 0 6489 3
9 mi 0 0 0 0
9 missing 0 0 0 0
12 or >20 no 135 51 18
2 no
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable r08rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here above.




ES00: PCONTRA
Univ=age>=16 & working 15+ hours in paid employment

PSUPERYV ES00

-1 Not in Universe 10,093 10,093 10,093 10,093
100 Permanent employment 2,853
200 Fixed-term or short-term contract 1,136
X : 4,227 4,227 14,320
300 Casual work with no contract 154 4,227
400 Some other working arrangement 84
dropped
14,818
ES00: PCONTRA dosfnres
household interview result
11o0r13 23 or.
interviewed households
r08work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 mi na
community or .
military working less not working mi na
. than 15 hours
service
» o 5 _ 1 permanent employment 100
é 1_2 |8 s é 5 2 fixed-term or short-term contract 200
" 151 2 or E §, ‘g é g g\g 3 casual work with no contract 300
[4 S =2 o
§ 1 yes % g 9 é_ 2 228 4 some other working arrangement 400
[
— o
@ 8 2 _training / apprenticeship 1
- % = 3 _self-employment / unpaid work
2 a?;} Q g _ _ 1 permanent employment 100
S = 1lor S =3 ~ ° S fixed-term or short-term
2 es |[© o =4 - = 5}
_‘E @ 2 4 S 9 ] g S 1 5 o E . 2 contract 200
= ® lyes|E § s 5 £ ) 5 E_|S &8 casual work with no
o 2 5 2 ] & S 2 o BE|o 25 3 300
2 g e £ a S £2 4 e 8 2 g & @ §5 contract
8 3 E} S S €3 4 ] = £ & 5 © some other working
- o 3 a 2no [ 92 =] @ o 4 400
= 2 S © 27 [ b=} o arrangement
£ = < 2 ®uw ° 5 s
2 E g = 2H g E ] > 9 meing [ wm |
i o § = 2 _training / apprenticeship
S £ 5 - =l
=2 =< o 3 _self-employment / unpaid work
[} o £ 2
= g no 1
9 mi
12 or
>20 -1 1
2 no
na




PSUPERYV ES00

ES00: PCONTRA do8fnres
household interview result
1lor13 23 or.
interviewed households
ro8work
working 15+ hours
1 2 9 .
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 . mi na
Comrrrlnilzglrt;, x working less not working mi na
. than 15 hours
service
m = = = 1 permanent employment 2836
g 18, Qs 2 g 2 fixed-term or short-term contract 1127
[4) § 3 or g3 E % g Z £ _3 casual work with no contract 152
2 lyes|g & 9 %2 =3 228 4 some other working arrangement 84
@ 2 2 _training / apprenticeship 42
. @ 2 3 self-employment / unpaid work 997
% ? o § _ - 1 permanent employment 17
% 2 110r 3 €% x o S fixed-term or short-term
2 o 3 yes |© o g 5 e = £ 2 9
£ 4 .% S gz = E 1 g Q &3 contract i
? [ lyes |[E § o % £ o s o B b s_g 3 casual work with no 2
& 3 8 E a2 o £ 1 yes g 2 9 & |8 Eg contract
e g s 5 2 1o rg\' EE 2 g g 2 5 © 4 Some other working 3
5 2 _-8_ 2 é&% 2 5 b § arrangement
= 3 = 2 _training / apprenticeship 0
35 £ S 3 self-employment / unpaid work 4
g E 2 no 0 105 6586 3
9 mi 0 0 0 0
12 or
=20 n 135 51 18
2 no 2152
na

NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as r08work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here above.



ES00: PTENURE

Univ= age>=16 & working 15+ hours
-1 Not in Universe
0-16 valid value
000-1017 at least x number of years
mi missing
dropped

ES00: PTENURE

p080010

eek

working in a job or business for at least 15 hours a w

° ., valid
8 s 112 value
12001 |8 5§
5 2 E 99 mi
3
o ) "
- 8 ¢ 2 ol
2le © 2200 (S §
1 g § § S E 99 mi
0|8 ¢
£ e 5 o 1986- ear
= g 1086- [ 5 1999
2 > 3 S o
) = 2 1999 |8 > .
o = = 2 9999 mi
1 yes S v o
2 2 4 before 1986
o 2 -
o 5 9 mi
£ "
. g g 112 ol
€ S 1200 |8 §
= S S E
g <3 a 99  mi
S8 5¢ -
2o0r g S o8 o valid
9 5|8 8% € 5 112 e
©|Q N o 2 2000 S &
3 £ S E )
B c o 99 mi
i [
8 2 -
£ 2 3 1999 or earlier
o 1yes 9 missing
o >E 3
EEE€ 2n0
2 no |8 G4
® 0o
S EaT
o o9 P
< ® g 9 missing

=
H ]
= ()
2 E 11 or s
2 g & 137
£ 2
= < 1yes|Eg g
4] 5 8 £
o I3 S £
& =
= [
o
2 g 2
S =
= =]
E) £
2
2
©
12 or no
>20

na

X than 15 hours
service

8,915 8,915
5,258 5,258 14,320
14,818
do8fnres
household interview result
1lor13 23 or.
interviewed households
r08work
working 15+ hours
1 2 9
no not
p080840 interviewed
main activity status households
yes 5 6 1-4 or 7-96 99 mi na
community or .
L working less . .
military not working mi na

-1




ES00: PTENURE

dosfnres
household interview result
11or13
interviewed households

o
S £
= 12001 |8 §
@ o E
; Q
) 3 9
£ E_ 2 2000 g -E
x = S
8 glg ¢ g g
] =|lo € =3
1 5|9 o}
glg ¢ 8
z HER 5 1986 | & 5
© 2 < 1999 |8 %
= Q o
3 gl a
“ £
S ] 2 _4 before 1986
B 1 yes g g §
= b7 i
2 H & S 2 o m
2 2 @ o 2
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NOTE: A 7 year-old child was wrongly coded as eligible for interview in original variable rO8rest (and subsequently as rO8work =9 rather than missing). LIS manually corrected that observation in both those original variables before the calculation of the frequencies here above.
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working 15+ hours
2 9
no
p080840
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